ooosoooogogn

= dap(z)

T:x, 20, x3 10O

(1) Vap(z)

= p(z1) & p(z2) & p(xs)
<= p(z1) or p(xq) or p(x3)

Vap(z)

Jp(z)

= Jdap(x)

Vap(z)

p(r2) plws)

p(%)

= Vz[p(z) or q(z)]

(2) (Vap(z)) or (Vzq(z))
T:x,xe U 0O0

(p(z1) & p(x2)) or (q(z1) & g(x2))

(p(x1) or q(1)) & (p(z2) or q(2))

C](IL’2)

—

(Vap(z)) or (Vzq(x))

Va[p(z) or q()]

—

= Va[p(x) or q(v)]

(Vap(z)) or (Vag(z))

p(r2) q(x1)

p(r1)




(Vap(z)) = (Voq(z))

—

(3) Va[p(z) = q()]
T:x,xo OO0

Va[p(z) = q(z)]

(p(z1) = q(x1)) & (p(22) = q(2))

(p(z1) & p(a2)) = (q(71) & q(x2))

<
Va[p(z) = q(z))

(Vzp(z)) = (Vag(z))

(Vap(r)) = (Veg(r))

—

p(r2) qz1) q(w2)

p(r1)

= VyIJap(z,y)

(4) 32Vyp(z,y)

y:yL,y: OO0

Ty, T,

(Vyp(x1,y)) or (Vyp(x2,y))

—
—

aVyp(x, y)

(Hmp(x, yl)) & (Elxp(x, y2))

p(%a Z/l)

Vy3zp(z,y)

—  Vy3Jzp(z,y)

3aVyp(x, y)

p(%a Z/2)

p(xlay2>

p(xlayl)




